Domeckova patrova postel ALPY s bo¢nimi loZnymi

schody 90x200 cm
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PREDMET CISLO|POCET KS |[DIMENZE L X B X T(MM) PREDMET CISLO|POCET KS |DIMENZE L X B X T(MM)

1 11 | 842X 130 X20 6 4 | 1942X 130 X 20
A 2 | 755X 78 X78 7 1 755X 78 X 78
B 2 | 755x 718x78 8 1 755X 78 X78
C 1 755 x 78 x 78 9 1 842X 130 X20
D 1 755 x 78 x 78 10 1 424X 56 X 56
3 4 | 335X78X78 11 2 | 393X 130 X 20
4 2 | 1942X130X20 12 4 | 898X 63 X 17
5 2 | 1942x 130X 20 13 28 | 898X 63 X 17
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PREDMET CISLO | POCETKS | DIMENZE L X B X T(MM) M

16 4 706 X 78 X 55

17 1 1942 X 55 X 55
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PREDMET CISLO|POCET KS (DIMENZE L X B X T(MM) v PREDMET CISLO|POCETKS |DIMENZE L X B X T(MM)
16 3 | 320x 130 x 20 1 1 | 1248 x450 x 20
17 1 | 1485x 512 x 20 2 1 | 1248 x450 x 20
18 1 | 895x 450 x 20 3 1 | 978x450 x 20
19 1 | 904x502 x20 4 1 | 708x450 x 20
20 4 | 410x40x20 5 1 458 x 450 x 20
21 4 | 404 x250 x 20 6 1 | 1180 x450 x 20
22 4 | 400x200x 16 7 1 438 x 275 x 20
23 4 | 400x200x16 8 1 458 x 275 x 20
24 4 | 352x200x16 9 1 458 x 275 x 20
25 4 | 397X365X3 10 1 458 x 275 x 20
26 1 | 275X410X 20 11 1 | 438x275x20
27 1 | 275X 450X 20 12 1 | 458x275x20
28 1 275X 410 X 20 13 1 458 x 275 x 20
29 1 275 X 410 X 20 14 1 | 458x275x20

15 1 | 895x 78 x 20
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